HART FLAT INCLINE BENCH INSTRUCTION

HART Flat Incline Bench

hartsport.com.au

Phone: 1300 764 719 | 605 Zillmere Road, Aspley QLD 4034



HART Flat Incline Bench

HART

HART FLAT INCLINE BENCH INSTRUCTION

M12X80 HEX HELD BOLT

[2PCS]

M8X45 HEX HELD BOLT

1/2" NYLON LOCK NUT-preinstalled

M12 NYLON LOCK NUT

[2PCS]

[2PCS]

M8 NYLON LOCK NUT

[6PCS]

[2PCS]

M12 (1.D) WASHER

[2PCS]

5/16" (1.D) WASHER
5/16" (1.D) SPRING WASHER

[BPCS]

M8 (.D) WASHER

[BPCS]

20X40 END CAP

[4PCS]

[4PCS]

2"X3" END CAP

[6PCS]

2"X3" NYLON BUSHING

[2PCS]

@1/2"X2.5t CU WASHER
@64 PULLEY

[2PCS]

T-SHAPED POP PIN -preinstalled

A2 A3

e Nz

B1 B2
D S
C4 D1
Q &
D7

hartsport.com.au
Phone: 1300 764 719 | 605 Zillmere Road, Aspley QLD 4034

[2PCS]

A4

B3

[1PCS]

A5




HART FLAT INCLINE BENCH INSTRUCTION

HART

A [1PCS] C [M1PCS]
i
(&) & N—
T o)
en
B [1PCS] E 12PCS
® 2Pos]
—
»— I — —
]
(L)
]
njd D [1PCS] F [2PCS]
S — :
B =
< G [1PCS] H [2PCS] K [1PCS]
= [150X75X2.5X450L
| [1PCS] J [1PCS]

hartsport.com.au

Phone: 1300 764 719 | 605 Zillmere Road, Aspley QLD 4034




HART FLAT INCLINE BENCH INSTRUCTION

\\\As Y.
~1/2"Bolt
A4 ~_
N

HART Flat Incline Bench

D2

hartsport.com.au

Phone: 1300 764 719 | 605 Zillmere Road, Aspley QLD 4034




